HEHHERE REURITRHFLHEDOHS
(Bifsr:t-CO2/4E)

= * =1 2 R1 R2 R3 R4 R5 R6
1 [BXHR%EH JFEILRTS 3,179 3,013
2 |BRERIHKA=E BHEIS 3,192 3,013
3 |7RVYCSwRUvARER NMILTALAD ELE— 3,517 3,762
4 [T—RavorlkREet ERIS 5,582 5,640
5 BRI BTG 3,683 3,282
6 |FVITvALIVUFZTY oo HAEH NIBIE 4554 3,946
7 [NBERHRRERXESHE 7 HL 5,942 5,081
8 |FREABEERKE HREAEEtLUZ— 13,526 13,944
9 |/ 71421t JIBEER 7,267 6,846
10 AR EHRsE BERRIIBRTF—23VENL 5,943 5112
11 |ERIEAER JIBREE 22— 5,128 4,982
12 | BRItk BEIS 5,491 5,565
13 |REERIEMASHE BHE7RO 2,991 2,977
14 |BRFA X %A FEHER 18,060 16,938
15 |HEIT7V-IILITEK(RAESH JIBISG 4,678 4,264
16 |[BRREHETEIAVT 4T JIIBIE 9,959 9,601
17 |ZFEGEABERE )IIERE 3,797 3,211
18 | F—I—4H LS JIIBELERR 16,109 16,427
19 |[HEMRIEA=E JIBIS 7,253 6,381
20 |[IN\A A =TS JIIBEERR 4,144 3,653
21 |INRON—F €/ 7HAEt IS 3,193 2,988
22 [#(RXEHE— - T L - T HBEWERRT 15,478 22,389
23 |/ TAZIILKAESH 4,242 3,241
24 1Rt TP 08— JIIBIE 9,992 5,184
25 |BE A IILLFIME/RASH HERERIISG 5,936 5,806
26 [EINEEHRKXESHE JIBEIS 11,362 11,539
2] | AHEEEMIGASH KRt - BTG 16,052 15,062
28 |[EXEHNEBEE JIBE 5,145 4,712
29 |2V ESH JIIBI5G 4,144 3,855
30 |AFEIRIBRKXEHE JIHTIIS 10,832 9,008
N | HEA=HEBE BEEIIS 8,116 7,979
2 |EMAT I LIK%AEH JNIBIS 5,003 5,002




